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WEST BENGAL STATE UNIVERSITY
B.A./B.Com. Programme 2nd Semester Supplementary Examination, 2021

ENGLCORO02T-ENGLISH (LCC2)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.

Attempt all the questions

1. In The Quality of Mercy, Mercy is compared to
(a) a soft breeze (b) the wild seas
(c) gentle rain (d) tall trees
2. Mercy is enthroned in the
(a) kingdom of God (b) moneybag of the Jew
(c) judge (d) heart of kings
3. The sceptre symbolizes
(a) the force of temporal power (b) the strength of the warrior
(c) the financial status of the king (d) the knowledge of the leader
4. The poet of The Reverie of Poor Susan is
(a) William Jones (b) William Carey
(c) William Wordsworth (d) William Shakespeare
5. The expression hangs a thrush in The Reverie of Poor Susan means

(a) asong bird

(b) a thrush sitting on a hanging branch and singing
(c) a bird from Russia

(d) a bird hanging

6. In The Reverie of Poor Susan the small cottage is located
(a) beside the green pastures (b) in London
(c) in Wood Street (d) in Cheapside
7. Susan remembers the cottage
(a) as a forbidden place (b) as a reverie
(c) as one of her many shelters (d) as her only dwelling
8. The season described in the poem, Sympathy is
(a) autumn (b) spring
(c) winter (d) monsoon
0. The flowing river in the poem, Sympathy is compared to
(a) a stream of glass (b) a dirty canal
(c) ariver full of fish (d) a deep lake
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The bird’s wing is “............ > and his bosom ¢
(a) red, blue

(c) happy, sad

The caged bird’s song is actually

(a) a song of joy

(c) a loud shout

(b) bruised, sore
(d) excited, tired

(b) an opera
(d) prayer and a plea

“Feels shorter than the Day”— What feels shorter than the day?

(a) evening (b) months

(c) centuries (d) life

What are the scenes that the poet passed by with Death?

(a) hospital, college, palace
(c) school, fields, setting sun
Whom did Hughie want to marry?

(@) Emily (b) Anna
Alan Trevor was a
(a) teacher (b) soldier

Hughie gave the old man a
(a) sovereign (b) copper

(b) mountain, valley, river
(d) hut, palace, fort

(c) Laura (d) Kathy
(c) policeman (d) painter
(c) guinea (d) shilling

The statement, Philip was a doting husband from the story, A Cup of Tea is

(a) false (b) true
The poor woman asked Rosemary
(a) for a cup of coffee

(c) money for a cup of milk

(c) partly true (d) none of these

(b) for a glass of water
(d) money for a cup of tea

Rosemary brought the poor, starving woman home because

(a) she was charitable
(c) the woman pleaded to accompany her

(b) she knew her
(d) none of these

In the short story, The Accursed House, the vicomte had inherited money from his

(a) uncle who was a miser
(c) concierge

(b) mother
(d) tenants

When Bernard said that the vicomte had ‘lunched too well, perhaps ...” he meant that

(@) his landlord had eaten too much of meat
(b) his landlord had thrown a party

(c) his landlord had spent a lot of money in the restaurant
(d) his landlord had been drinking too much at lunch

When the lodgers first heard about the lowering of rent, they

(a) clustered together and chatted eagerly
(c) jJumped in joy

(b) broke into a fight
(d) began to accuse one another

What was the commotion all about in Uncle Podger’s house?

(a) Uncle Podger was going to catch a flight

(b) Uncle Podger was going to catch a train

(c) Uncle Podger was going to hang a picture (d) Aunt Podger was ill

The girl was sent out by Uncle Podger
(a) to get nails
(c) to get the picture

(b) to get the hammer
(d) to get fish and chips
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Uncle Podger’s concluding remark was

(a) that he was very tired

(b) that he liked doing a little job of this sort

(c) that the charwoman was the root of all confusion
(d) none of these

The antonym of justice is

(@) unjust (b) judgement (c) judgemental (d) injustice
The noun form of mitigate is

(a) intimidate (b) metabolism (c) mitigation (d) unmitigated
The superlative form of better is

(a) best (b) worst (c) happiest (d) bad

The opposite of earthly is

(a) watery (b) muddy (c) clear (d) unearthly
Another word for vapour is

(a) mist (b) silence (c) flow (d) dream
The noun form of appear is

(a) apparent (b) appearing (c) appearance (d) disappear
The opposite of ascending is

(a) mounting (b) descending (c) assembling (d) recent
The appropriate antonym of enchantment is

(a) unenchantment (b) disenchantment  (c) deenchantment (d) misenchantment
The meaning of keener is

(a) sharper (b) cleaner (c) toner (d) dull

The antonym of caged is

(@) tree (b) free (c) home (d) angry
The synonym of perfume is

(a) a dark spot (b) a child (c) fragrance (d) a painting
Chalice means

(a) mug (b) bowl (c) large cup or goblet  (d) dish

The word opes is an archaic term for

(a) ropes (b) pose (c) polls (d) opens
The French word for Mister (Mr.) is

(a) Monsieur (b) Madam (c) Herr (d) Lord

The adjective form of apology is

(a) apologise (b) apologies (c) apologised (d) apologetic
The meaning of ineffectual is

(@) lacking in power (b) being effective

(c) being influential (d) lacking in common sense

The word amazement means

(a) astonishment (b) hurtful experience

(c) angel (d) a new car
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The meaning of antique is

(@) angel (b) very old
The meaning of dreadfully is

(a) terribly (b) gracefully
The noun form of amiable is

(a) amity (b) honesty
Philanthropy is

(a) dislike towards mankind

(c) the desire to do good for others
Catastrophe means

(a) marriage

(c) going from place to place

An antonym of hinder is

(@) help (b) fear

The word grunt means

(a) a low sound expressing disapproval
(c) sleep deeply

Another word for row is

(a) hammer

(c) dance

N.B. :

(c) very new (d) ugly

(c) exquisitely (d) all of these
(c) amidst (d) amiability

(b) desire for wisdom
(d) to eat, drink and be merry

(b) donation for a good cause
(d) an extremely destructive event
(c) obstruct (d) amaze

(b) jump about
(d) shop

(b) commotion
(d) drama

Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to their own

respective colleges on the same day / date of examination within 1 hour after end of exam. University /
College authorities will not be held responsible for wrong submission (at in proper address). Students
are strongly advised not to submit multiple copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.Sc. Honours/Programme 2nd Semester Supplementary Examination, 2021

ZOOHGECO02T/Z00GCORO02T-ZooL0GY (GE2/DSC?2)

Time Allotted: 2 Hours Full Marks: 40
The figuresin the margin indicate full marks. efifer T FGZ TG 2T e w1
Candidates should answer in their own words AN [ACGH @R T FGT TN T
and adhere to the word limit as practicable. Ges FRE |
1 Answer any eight questions from the following: 2x8 = 16
fefeie Q- S5l et Tes nies
(@) Define co-enzyme and holo-enzyme. 1+1=2
Fl-9TE2N € FEA- IS FIF A0 2
(b) What is Conn’s Disease/Syndrome? 2
T fefe @t 5 9
(c) What is Transamination? 2
BT & 9
(d) What is sarcomere? Name different contractile protein present in it. 1+1=2
IR 5 ¢ FMCIRICT 9 FKCF o6 @Ifeaa = =T
(e) Statethe significance of counter current mechanism in Kidney. 2
0 counter current-@3 Ok (FCal|
(f) Write down the names of hormones secreted by anterior pituitary. 2
LN G N ERIEEA TR SR (DG E R DG A
(9) What is essential amino acid? Give two examples. 1+1=2
i SISl SifTe T 30 2 7o Swizad 7is |
(h) What do you mean by Graafian follicle? 2
&R ZPlerpet PICH 0T ¢
(i) Differentiate between reducing and non-reducing sugar. 2
ReraeiS @ Rerigel-srws =151 ey =A% @l
(1) Write two differences between fat and oil. 2
i € (ot Wy 91 #H1<f e
(K) What is Total Lung Capacity? 2
FIHFCN (NG 470l FFaTo] @100 b (@AM 9
(I) Name different classes of enzyme according to [UBMB. 2

IUBMB SISl Sebera @i esfer w15 (el |
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2.

Answer any three questions from the following:
AEfeTe @-I! foaip 2itaiw e mies

(a) Briefly state the effect of pH and Temperature on enzyme action.
T ISR T27 pH @ SI#NIaR 2foi] 361 FE |

(b) Discuss the role of progesterone and LH hormones in menstrual cycle of human 13+11=3

female.
A B TS B27 (NSO 8 L H ZRR el Sl S|

(c) Draw aflow chart of Urea-Cycle.

O s 4t @D I T

(d) Differentiate between aphahelix and beta sheet of protein structure.
(@O 2otR CFea SieTe! @fers @3k {51 iR #heley @l

(e) Draw and label the T.S. of a mammalian heart.
B el Twieisd eiFrRed fod wEe w0l ¢ IR bfzre |

Answer any three questions from the following:
ke @-@IE! foafs 20w e mies

(a) Describe the histological structure of Thyroid gland of mammal with suitable
diagram.
ANZATC aifeg FREF 219w ooz 31w
(b) Explain the steps of glycolysis.
sliEciferiieTm distef 3 st
(c) Write the mechanism of urine formation in human with simple diagram.
e ooz NARTHE TG T ofod el wie |

(d) Describe the mechanism of O, transport in blood. Write down the factors
influencing the transport.

A0S WG O, IR orafoq I nie | @3 wifaera s @t

(e) Describe the ultrastructure of skeletal muscle with diagram.
% (PN eI ez 3 wie |

N.B.: Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Sudents are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A. Honours/Programme 2nd Semester Supplementary Examination, 2021

PLSHGECO2T/PL SGCORO2T-PoLITICAL SCIENCE (GE2/DSC?2)

Time Allotted: 2 Hours Full Marks: 50
Thefiguresin the margin indicate full marks. efifer T G TG 2T e T 1
Candidates should answer in their own words AN [ACGH G T FET TN T
and adhere to the word limit as practicable. e FEE !

1 Answer any ten questions from the following: (within 30 words each) 2x10=20

feaeraie @-cwicat 74if5 eltaa Tee wies (2ifolb wo =it W)
(8 When was the Constitution of India adopted?

O IR U I 92 T 9
(b) What was the Objective Resolution?

TOmCeE REH [ 9

(c) Discuss any one source of the Constitution.
SIS R R @~ T SR Srared I |

(d) Which principles were added to the Preamble of the Constitution of India by the
42nd amendment act?
83O MR I NG SFoR R 2B F F [ 1 s g& 1
Frafeet 9

(e) Mention any four freedom asin Article 19 of the Constitution of India.

OIR0o3 MR So = Ll S Gl Ao Srard T

(f) What do you mean by ‘Habeas corpus’ ?
‘T AETRIFR IS fF @IRANT 9

(g) What is concurrent list?
T el FET0e 6 @RI 9

(h) What do you mean by ordinance?
“SfET @10 & @RI 9

(i) Mention two functions of the Vice President.

ToRIgITST I 76 Fices e Sl |

(1) Why isthe Rajya Sabha called the permanent house?
ACTTSI B % o0 2 & 2
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(k) What is meant by ‘Pocket Veto' of the Indian President?
(I) Mention two discretionary powers of the Governor of a state.
SHERICSIR AR T{0 (TR Fooid Srae I |
(m) What is public interest litigation?
GrerRILAIE] el FICE 0 2
(n) What isamoney bill?
ol e 5 9

(o) Discussthe composition of the UPSC.

FE ATFOIF IR 519+ SN FC |

2. Answer any three questions taking one from each Module: (within 350 words 10x3 = 30
each)

ol AT (e o6 S e e @b ot v Tew wies (&fels oeo =
)

Module-l
(8) Discussthe role of the Constituent Assemble in framing the Constitution.
TR 2o Sieiifraees Bl SiCetal el

(b) Describe in brief the role of the Drafting Committee in framing the Indian
Constitution.

SIS TR 6 (LT 270 S i TR 39071 Tl

Module-l1

(c) Discuss Articles 14-18 of the Indian Constitution.
ST W $8-5b R qiAfe e Tt

(d) Write acritical note on the nature of the Indian federation.

IO JSHNET AP 7~/ 9T Gl wTel |
Module-l11

(e) Discuss the powers and position of the President of India.
OIA0o A7 Tl 8 SwrEiwl v S|

(f) Discussthe role of the High Court in ensuring justice.

T 2SO (T QIO G A T |

N.B.: Sudents have to complete submission of their Answer Scripts through E-mail /
Whatsapp to their own respective colleges on the same day / date of examination within
1 hour after end of exam. University / College authorities will not be held responsible
for wrong submission (at in proper address). Students are strongly advised not to submit
multiple copies of the same answer script.

X
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WEST BENGAL STATE UNIVERSITY
B.Sc. General Part-III Examination, 2021

CHEMISTRY

PAPER: CEMG-IV

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks. aNfer T F0Z T YMo Q"Y/VW fac Fed1
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M

and adhere to the word limit as practicable. s R
CEMGT-34A 12x2=24
Answer any fwo questions from the following
Feferiee -t 76 etis Tea wie
1. (a) What are determinate and indeterminate errors? 2
e ¢ wifadre @6 & ¢

(b) What is standard deviation? Determine the standard deviation for the following 1+2

numbers:

0.60, 0.62, 0.55, 0.67, 0.68, 0.72, 0.85

et RS & ¢ farae aifafem e Rprfs fdt sat
0.60, 0.62, 0.55, 0.67, 0.68, 0.72, 0.85

(c) Describe the method of gravimetric estimation of Barium (Principle, Reaction, 4
Procedure, Calculation).

coIfeTs srafere @fRacE siftae e «mfst ada st (TS, [, sm&fs, s

(d) What do you mean by ‘RAM’ and ‘ROM’? Give any one difference between 2+1
‘RAM’ and ‘ROM’.
‘RAM’ @ ‘ROM’ Fe708 & @I 2 ‘RAM’ € ‘ROM’-97 G35 #1127 =Tl

2. (a) Discuss the importance of solubility product in chemical analysis with one 4
example.
A T TIRTo! @oPCeTa @y G0 Sriggel LA SICeIbel FCl |
(b) Describe a method for gravimetric estimation of Lead (Principle and Reaction). 3
(OIfers ormfore @I s fNeiws smafst 3@ Fa@t (TS ¢ &)
(c) Experimental value of a quantity is 14.75, but its actual value should be 14.70. 3

Calculate ‘absolute’ error and ‘relative’ error for this result.
a6 AR TG W 14.75, € 229 oo N« 263 TH® 14.701 98 T &)
oy @l @ SICoifERe @b aefa T
(d) Add the binary numbers 1101 and 11011. 2
1101 @ 11011 f&=s k241 75 it el

1 Turn Over
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3. (a) What do you mean by primary and secondary standard solution? Calculate 2+2
equivalent weight of KMnOj in acid medium.

27 @ (el 2fElel 719l Fo0e R QIR 9 TS G KMnO,-93 QeiwelR foefa e

(b) How is Mg estimated complexometrically? 2
TGS “Fafore Feim Mg-«a3 #fsie fe a1 =i 9

(c) What is chromatography? Name two adsorbents suitable for use in column 2+1
chromatography.
CICBIENTR 6 9 oI (@IIGINFre R SN wit SRR s el |

(d) In the estimation of Fe*" by K,Cr,05 in acid medium calculate equivalent weight 2+1
of the primary standard solution showing half reaction. Which indicator is used
here?

K,Cr,0,-93 ARG SfEF @1 Fe' sfawisied ffve wdfien w2 g4 e weifoa
CEESR e S @ I @i o I9Te 73 9

4. (a) What type of indicator is used in complexometric titration? Explain with example. 3
FCREIES #AfAio [ a@ees Mo Tag@ 791 2 2 TSriggenm 1L S|
(b) Mention the names and functions of constituents of Zimmermann-Reinhardt 2+2

solution. Write chemical name and formula of Mohr’s salt.

- AiEART TRed SrReeefd ok et SISl @Il (IR SRR PR
I3 8 (PO (=TCAT |

(c) State the criteria for selection of indicators for acid-base titration. 2
SEFIRT 2w [ s diveTa Aife Kige we

(d) What is meant by thin layer chromatography? Mention the adsorbent and binder 2+1
used in its stationary phase.

1o (FT0F (FINGIANF F 2 @it {20 veiiE (9 420eia SES @R 95 72 FAA 7 9

CEMGT-34B 12x1=12
Answer any one question from the following
fmfeiide - «ols e e nie
5. (a) What is carbonization of coal? Compare the calorific values of coal gas, producer 4

gas and water gas.

AR FIEa F 9 I o7, (@S 971 @ SR MR Oivie o Geral Il

(b) Name the constituents of LNG and give its calorific value. 2
LNG-99 SAMASET 1% FR1 @R G ©194« 67 7S |
(¢) What is triple superphosphate? Write a short note on Bio-fertilizer. 4
fG7@ FJEINCEs [ 2 (o[ @R T e Bt @Teai |
(d) What is photochromatic glass? Mention its use. 2
FOCENT 16 6 9 93 FI27 TE FE|
6. (a) Give the outline of production of urea. Which one is a better nitrogenous fertilizer, 4

urea or ammonium sulphate?

3ol todm @diftg we1 WiEthitew Wbe ww R @ e, T/
GRS AT 2
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(b) What do you mean by antiknock compounds?
IR (ol 00 T QIR 9

(c) What is cracking? Explain with a chemical reaction.
o [ 2 93T ARl i AR i sl

(d) What is the function of gypsum in cement?
IS e it & ¢

. (a) Write down the monomers of Nylon 66 and state one of its uses.
BT 66~ NARSET @A @R @9 9o J2 TeE I |

(b) Write short notes
(ii1) Polyester.
Q-G qioa ©ow WY Bl @Al (i) Silicone rubber, (i) Polythene,
(ii1) Polyester.

(c) How is Metronidazole prepared? State its use.
EeEE Tl oe 41 27 9 13 3T Orad I |

(d) State the functions of pigment in paint.
R OF T IG6F-9F I SCaE IR

on any two: (i) Silicone rubber, (ii) Polythene,

. (a) Give an outline for production of lactic acid from molasses. State its uses.
RIFTIYT (AT TFHF ST TR G FAE WS | 3R IR Sae I |
(b) What is vulcanization of rubber? What is its importance?
G SlEFILcEe F ¢ @3 9wy F 9
(c) Name one homopolymer and copolymer with their structural configuration.
@3 o @TAETIR ¢ @ieiferR sz Srae Il
(d) Describe the process of preparation of congo red.
FEIES 2gfs 3t T
(e) Write other names of Vitamin A, B, B, and Be.
OIS A, By, B, 8 Bg @3 9177 % & 9

CEMGT-34C

Answer any one question from the following

FefEie @-@m 95 emie Tea wie

. (a) Name two Green House gases. Why are they called so?
(o fale 21T SR W% 0 | (@ SId @2 NI (e 2 9
(b) Distinguish between BOD and COD.
BOD ‘¢ COD-&7 W& A1y (el
(c) Write what measures can be taken to prevent soil pollution.
el eferices &= [ 6 78 (e @e 2t @il
(d) What is PAN? Give its formula.
PAN & 9 @9 0% (=131
(e) What are the major layers in atmosphere?

AT YU (S 5 9

2x2

1+2

13x1=13

1+2

1+2

Turn Over
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10.(a) What are the harmful effects of the gases SOy and NOy in the atmosphere?
ARG SO, @R NO, MHelr Hlosq geRef & & ¢
(b) Describe the process of waste water treatment.
5 T elfGaeaed oiafeft afa Tl
(c) Give the harmful effects of lead, mercury and cadmium metals.
(FTC, N 8 FCHRN dgelm Ffowa eeRef Sae @l
(d) What is acid rain?

RESERSE

11.(a) What is meant by rancidity of 0il? How can it be prevented?
(SR THEH e F QI ¢ 3 [Feir afewiy w1 a7 ¢

(b) Write down the chemical reactions involved in soap production. What is
transparent soap?

AR Teoines Feaibe [ @il = [ & ¢
(c) How can you prepare the following? Give their uses.
fefaRRoel e awe 9@ ¢ v 37T e @
(1) Aldrin (ii) Decamethrin.
(d) Give the names of two important emulsifiers.

(b 2l ZARTHPINCEA I (=T |

12.(a) Write the difference between ‘Pesticide’ and ‘Insecticide’. What is I.G.R.? Give
one example.

“Pesticide’ '@ ‘Insecticide’-7 Je&y 24 L1 L.G.R. & » 9o Twiggel wis)
(b) Give an outline for the large scale production of Vanaspati.
IS 2Rgre “Ateieve “iaod Heiaal s |

(c) Write the difference between oils and fats. What is ‘lodine number’ of oils and
fats?

(S5 @ 5A AL @1 (95 8 5 e ww & 9
(d) Name two food preservatives. State their uses and abuses.
S A RIS AL AT @Al I IR € AR [ A |

Overall Impression-1 mark

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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WEST BENGAL STATE UNIVERSITY
B.A. Honours/Programme 2nd Semester Supplementary Examination, 2021

PHIHGECO2T/PHIGCORO2T-PHILOSOPHY (GE2/DSC?2)

Time Allotted: 2 Hours Full Marks: 50
Thefiguresin the margin indicate full marks. e 3NT F5Z o 2N 0 P
Candidates should answer in their own words A [T @I T2 TET AT S
and adhere to the word limit as practicable. e FRE |

1 Answer any ten questions from the following: 2x10=20

feaerare @-cwicat 74if5 elteia Ted nies

(8 Mention the names of any two Empiricist philosophers.
@~ 7o Sfeeeeiiat e i e sl

(b) Mention the name of a critical philosopher.
GFe R widfecsa A1 Seare e

(c) “Thereis nothing in the intellect that was not previously in the senses” — Name
the philosopher associated with this statement.

“Fface @i fFg (712 T 7S e W e A - @2 Tfeoq 1o @i wffaces aw
1@ ?
(d) “All ideas are innate” — Who said this?
IR QIR TGS — G (F AR ?
(e) What are the different kinds of ideas admitted by Descartes?
IS Tl qizell FIFIF FECR 9
(f) ‘Esse-est-percipi’ — Who said this? What does it mean?
‘Esse-est-percipi’ — @3 32 (& I 2 93 9L Ji 9
(9) What is Realism? Write the name of a Realist philosopher.
IEAM F 9 QTG TGN R A @Te)
(h) What does Hume mean by impression?
gl Fe1Ce RO F IR ?
(i) What isthe definition of substance according to Spinoza?
ol Sce weya ol 6 9
(1) What isthe basic tenet of interactionism regarding mind-body problems?
(23 TP i fal-afefaraaiT 5 36 F ¢
(k) What is monad according to Leibnitz?
igafcea e foermee & 9
(I) What according to Kant are the marks of a-priori knowledge?
O3 e ={w: i Teitas o7l & fF 9
(m) “Substance = Nature = God”—Whose view is this?

‘T = &Pl = 747 — IR T 9
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(n) Inwhich sense has Hume used the term ‘idea ?
2o 7ol A i =L 727 FECZ 9

(o) Givetwo examples of Synthetic a-priori proposition.
5142 1@ FRCATF I501 4o Twizgel i |

(p) What is Solipcism?
o AW R 9

(@) Which philosophical school maintains that necessary propositions are aways
anaytic?
(I (e IRV 00 SR IFTNG 2 KC2F 2

(r) What are the different levels of knowledge according to Spinoza?
ol Se eicae f[ifon waef 6 9

(S) What isthe meaning of ‘ Tabularasa ? Who has used this term?
‘Tabularasa *@fd 9L & 9 (& @2 *(0 92T FCACA 9

(t) What isthe definition of substance according to Descartes?
(RIS TS TR o7l {5 9

2. Answer any two questions from the following: 5x2 =10

fesfeie @-c 7f et Ted wies

(a) Discuss critically Kant’s critical theory regarding the origin of knowledge.
wiraIe~Te R FIC3 [Rplwam FICEbIE SICsb=i T |

(b) Explain Berkeley’stheory of ‘ Subjective Idealism’.
IFET SIS SIRAW SN T |

(c) Explain and examine the Entailment Theory of causation.
FRIReTE KA emfeam i e R e

(d) Critically explain the parallelism as a theory of mind-body relationship.
(2-3e 37 A FTeeTam il @ [oi Sl

3. Answer any two questions of the following: 10x2 =20

fesfeie @-cie 76 elvse Tea wies

(8) Discussthe view of Empiricism as the theory of knowledge.
T TN SCEORIAHE TS DTG TR |

(b) What are the basic tenets of Locke' s Representative Realism?
(A elf oA TN o1 ISl 6 7 9

(c) Discussin brief Hume' s theory of causality.
RO -1 ©F FTFCH SO |

(d) Explain substance according to Rationalists.
TR F! A0 @I NS bl S|

N.B.: Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Sudents are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.Sc. Honours/Programme 2nd Semester Supplementary Examination, 2021

MTMHGEC02T/MTMGCORO02T-MATHEMATICS (GE2/DSC2)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

Answer Question No. 1 and any five from the rest
1. Answer any five questions from the following: 2x5=10
(@) Solve the differential equation (1+ yz)dx = xydx .

(b) Examine whether the differential equation (x%+y?+4) xdx + (x*> + y?+9) ydx =0
exact or not.

(c) Solve the differential equation p>+p-6=0, p= % :

(d) What is the general solution of the differential equation y = px— p?, p :% ?

(e) Find complementary function of the differential equation (D2 —-4D+4)y=0?

(f) Eliminate the arbitrary constants A and B from the relation y = Asinx+ B cosx to
form a differential equation.

(9) Find the order and the degree of the differential equation

3
d’ )2 (dyY
(WJ +y(& -2x=0.

(h) Form a partial differential equation by elimination of the arbitrary constant from
the relation z=ax+y.

2. (a) Solve the differential equation: xdy — ydx = cos (%) dx. 4+4
(b) Find the solution of the differential equation (x2+y2+2x) dx+2ydy =0 when
x=1land y=1.
2
3. (a) Solve the differential equation M—5 dy +6y = 6e>% . 4+4

dX2 dx

(b) Solve the differential equation (x2D2 —xD+1) y=Ilogx.
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4. (3) Solve p?+2px+ py+2xy =0, pzﬂ. 4+4

dx
(b) Show that e* and €3 are solutions of the differential equation

2
Y _5d | 6y —6ed*.

dX2 dX
5. (a) Solve the linear simultaneous equations % —7x+y=0, ?j—il —2x-5y=0. 3+5
b : : : dx o dy 2t
(b) Solve the linear simultaneous equations o +5x+y=e, o X+3y=e".
6. (a) Eliminate a, b from the relation z =ax?+by?+ab. 4+4
(b) Find the complete integral of the following partial equation by Charpit’s method:
pPXy+pq+qy=yz.
7. (a) Solve the partial differential equation: (y—z) % +(z-x) % =X—-Y. 4+4

(b) Form a partial differential equation by eliminating the arbitrary function from the
relation Xx+y+z= f(x2+y2+22).

4 3 2
. _a'dx  _ bdy _ codz
8. (a) Solve: o ~e-a) zx (a-b) %y ° a+a
(b) Solve: (x2 + y2 + 22) dx —2xydy —2xzdz =0.
9. (a) Solve: (D2—3D+2) y =sin3x 444

(b) Find the particular integral of (D3 +3D2) y =108x°.

N.B.: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

2128 2



CBCS/B.A./Hons./Programme/2nd Sem./JORHGECO02T/JORGCORO02T/2021

= T

WEST BENGAL STATE UNIVERSITY
B.A. Honours/Programme 2nd Semester Supplementary Examination, 2021

JORHGECO02T/JORGCORO2T - JOURNALISM AND MASS COMMUNICATION (GE2/DSC?2)
PHOTOGRAPHY

Time Allotted: 2 Hours Full Marks: 50

Thefiguresin the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1 Answer any five questions from the following: 2x5=10
e @-ieat #fi5fb eltan Tes wies
(i) Carl Zeissis
I & 2T
(A) Socia Site (B) Camera Company
(C) Type of CameralLens (D) Software
(it) Full form of USB
USB @9 «Jzat «Iis et
(A) Universal Storage Boost (B) Universal Serial Bus
(C) Unique Storage Bus (D) Unlimited Storage Boost
(iii) Full form of SLR Camera
G o7 O[S PICAAG [0 N
(A) Single Lens Refraction Camera (B) Single Lens Reflex Camera
(C) Single Lens Rangefinder Camera (D) Single Lens Range Camera
(iv) Which isaCamera Manufacturer Company?

(A) Servo (B) Maruti
(C) Nikon (D) Bluechip
(v) Which isthe Photo Editing Software?
CFICH! @ffix FTE e FI0! 2
(A) Quark Xpress (B) Cool Edit Pro
(C) Adobe Photoshop (D) Sound Forge

(vi) Photographic film was pioneered by
RPICOINTPS P31 SR 20
(A) George Eastman (B) Joseph Nicéphore Niépce
(C) Kodak Brownie (D) Steven Sasson
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(vii) First camerainvented by
2L FICEE TG FC
(A) LouisLe Prince (B) Joseph Nicéphore Niépce
(C) Thomas Edison (D) Thomas Alva Edison
(viii) Which of theseis digital storage?
Qefer W (@I fOfesr Fhiae 9
(A) Tripod (B) Desktop
(C) Lens (D) Pen Drive
(ix) Zoomis
G
(A) Set Aperture
(B) Type of camera shot
(C) Technigue of changing the focal length
(D) Adjustment of White Balance

(x) 1GB equal to

1f& &=
(A) 1000 MB (B) 1024 MB
(C) 1024 KB (D) 1000 KB
2. Answer any four questions from the following: 10x4

falerie @-Il 5Ef6 2o Ted wies

(i) Definethe Birth of Camera and its Evolution.
IR &1 8 e [ge @t

(ii) What is Three-Point Lighting? What is its importance in photography?
12-51G =12 IS 051 ¢ PIIRF (F0q O @Y =Tl |

(iii) Define Photo Journalism. Describe the role and responsibility of a photo
journalist.

oq Meaivretn e @l B A 9wy € FIF @l

(iv) What is photo-editing? Which editing techniques will you follow to make a news
photograph perfect?
HEFHT Tl FIF IE 9 @0 AT TIPS FACO T2 el
(FIeT ST FAE 2

(v) Digital photography is gaining importance in recent times. Do you agree?
“ArefeTicet fOiE0E Fbial ey Aerr” —9 R o & i 3@l ¢
(vi) Define photography. What is camera obscura?
FICHIENTRF FICE ICE 9 FCR! SR FICE I 9

N.B. : Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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B.A. Honours/Programme 2nd Semester Supplementary Examination, 2021

HISHGECO2T/HISGCORO02T-HISTORY (GE2/DSC?2)
HI1STORY OF INDIAN FROM C. 300 TO 1206 CE

Time Allotted: 2 Hours Full Marks: 50
Thefiguresin the margin indicate full marks. efifer T GZ TG 2T e T 1
Candidates should answer in their own words A [T @RI TR FEGT AT N
and adhere to the word limit as practicable. e FEE |

GROUP-A / fteta-s

1 Answer any ten questions from the following: (word limit 30 each) 2x10=20

s @-ia 715 aesm Tes wies (2fsfba =< 3 o)

(8 Who adopted the policy of ‘ Grahana-Moksha Parigraha’ and why?
(P ‘alzd-Crm-~lika’ qife ez FEREW 9. (&4 9
(b) Name at least two of the prominent scientists of the Gupta period.
@ JOIF FAVCH & &g [Realaia 1% @l
(c) Who composed Allahabad Prasasti? WWhose achievements have been described in
thisinscription?
G 2R (F A5+ FCATRCE 9 GTS I FTo0qd 2 I 2RCE 2
(d) Which Guptaruler defeated the Hunas?
@I @ ST g RIere FCARCE ?
(e) Name two books written by Banabhatta.
e e 1ib 92-«3 Wi &ieal |
(f) During whose reign did Hiuen Tsang visit India? What is the name of the account
written by him?
I ATHIICE REE G SIS DA 2 O forfie Kqaeerm =i & 9
(g) Who assumed the title ‘ Uttarapathanatha ?
“TeairimIe Syl (F ezl FCafReE ?
(h) What was the significance of Nalanda University?
et R fRvrieTca wieer ! f foe ¢
(i) Who was Gopala?
(atiottet & = 9
(1) Who assumed the title ‘ Gangaikonda and why?
“ORTANE (P’ T F, (o 879 FCE 9
(k) What was the Kaivartya Revolt?
e Rz 7 foet 9
() What was the Ur and Sabha?
T3 @ 1! {3 fow 9
(m) Name the important ports of the Chola Period.
(IeT o @3ege)el TVRPTICA IS (FTCAl |
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(n) Who was the greatest ruler of the Pallava dynasty?
HNFR G A MRS i 5 e 9

(o) What was the significance of the Second battle of Tarain?
RI2CR faoR Jrad wweg 3 foet 9

GROUP-B / &eiit-4
Answer any two questions from the following (word limit 250 each) 5x2 =10
fmferiie -ttt 715 evaa Ted wie (aifefba *iw Al 1 ¢o)

2. What is the importance of Gupta Coins as sources of Gupta era?

@ Jrofa SO Ao TV AN @ YW <R F 2
3. Weas there a remarkable development in science in the Gupta period?

@ Jo! & Rt ceq ==ar Saew 2l ¢
4. Briefly discuss the importance of Aiholeinscription of Pulakasin I1.

TSI ~[FTN SRR e @3 FRTHCo S T |

5. Who were the three powers involved in the Tripartite struggle? What was the
symbolic object of the struggle?

e ara @1 for *fe it foe ¢ 3 ared SIS Sra=y & fee 9

6. What do you know about the emergence of Rajputs in the seventh and eighth
century CE in North India?

B A-E *To(P T S0 Aefornd Serife KA i e ¢

GROUP-C / fRetat-ot
Answer any two questions from the following (word limit 500 each) 10x2 = 20
FEferiee @-@ 717 eviE Ted wie (eifofba =% At ¢oo)

7. Analyse the achievements of Samudragupta.

TR PO Reae Tl
8. Why isthe Guptaperiod called a‘Golden Age' ?

@8 IoICF (1 93 ol I 27 9
9. Analyze the achievements of Harshavardhana.

TR oy Roeme e

10. Discuss the maritime activities of South India during the reigns of Rajendra | of
the Chola dynasty.

(5o QTR 2/ ACSCHR HPTHFIET 6 IR0 AY(GF PR HCEAG S|
11. Write a note on Pallava art and architecture.
#1574 151 8 BI9Ierd ©oig @ BIel @Tea |

N.B.: Sudents have to complete submission of their Answer Scripts through E-mail /
Whatsapp to their own respective colleges on the same day / date of examination within
1 hour after end of exam. University / College authorities will not be held responsible
for wrong submission (at in proper address). Sudents are strongly advised not to submit
multiple copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.Com. Honours 2nd Semester Supplementary Examination, 2021

FACHGECO2T -B.ComMm. (GE2)

BUSINESSMATHEMATICSAND STATISTICS
Time Allotted: 2 Hours Full Marks: 50

Thefiguresin the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10
@ If f(x)=|x=3|+|x-1],find f(2).

2
(b) For what valueof f(3), f(x)= )g( __3? will be continuous at 3?

(¢) If x=5+at® and y=2at, then find %
e 34X+ T

d OA TAAT L

(d) Find |JLT2] 35

(e) Find the median of 94, 33, 86, 68, 32, 80, 48, 70.

2 -1 -1 3
(f) If A= . B= then find 2A+ 3B.
1 3 0 2

(g) Tworegressionlinesaregivenby 3x—2y=5, 2x—y=4.Find X and y.

(h) What are the major uses of Time series?

2. Answer any four questions from the following: 5x4 =20

2 5 1 -2 _ .
@ If A= 1 3 and B= 3 then find AB and BA. Examine whether
AB=BA.
(b) Solve by Cramer’srule:
X-2y+2z+1=0, 3x+y—-2z-4=0, y—-z-1=0

(c) The A.M. calculated from the following distribution is known to be 67.45. Find the
unknown frequency.

Height (inches) | 60-62 | 63-65 | 66-68 | 69-71 | 72-74
Frequency 15 54 f 8l 24
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1 a b+c
(d) Provethat |1 b c+al|=0

1 ¢ a+b
(e) Find the correlation coefficient from the following data:
X=12 3 45 6 7
Y=6 8 11 9 12 10 14

(f) Find the three-year weighted moving averages with weights 1, 4, 1 for the
following series:

Year: 1 2 3 45 6 7
Vauee 2 6 1 5 3 7 2

3. Answer any two questions from the following:

() Represent the following data in a frequency distribution table taking 5 equal class
intervals and then cal culate the mode of the distribution.

60 45 41 32 47 45 50 37 53 17
26 39 59 68 44 12 30 25 36 18
45 62 46 29 32 54 41 14 32 30

(b) Using the following data compute Fisher’sidea price index number for the current

year

. Base Y ear Current Year

Commodity ; 5 : -
Price | Quantity | Price | Quantity

A 6 50 10 56

B 2 100 2 120

C 4 60 6 60

D 10 30 12 24

E 8 40 12 36

(c) (i) Without using Venn-diagram prove for any two sets A and B that
(AUB)® = A°N B

(ii) Find the amount of an immediate annuity of Rs. 100 per annum left unpaid for
10 years, alowing 5% p.a. compound interest.

[Given l0g1.629 = 0.2120]

(d) (i) Show that the maximum value of xﬂ% islessthan its minimum value.

(ii) |fA={lilllli}andB:{1212121

y y y y y y R I T Y S T then provethaI
2345678 33557709
A-B=ANB

N.B. : Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Sudents are strongly advised not to submit multiple copies of the
same answer script.

X

2117 2

10x2 =20
10

10



CBCS/B.Com./Programme/2nd Sem./FACGCORO04T/2021

WEST BENGAL STATE UNIVERSITY
B.Com. Programme 2nd Semester Supplementary Examination, 2021

FACGCOR04T-B.CoM. (DSC4)

BUSINESS MATHEMATICS AND STATISTICS
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

GROUP-A
1. Answer any five questions from the following: 2x5=10
@ 1f 2c, =%c,,, findr.
(b) Which of the following sets is finite and which is infinite?
(i) G={x:xeNandx is odd}

r+4,

(i) H={x:xeN and x* -5x+6=0}
(c) Find the general term in the expansion of (x — */x )®

(d) Find the Geometric Mean (G.M.) of 3, 6, 24, 18
(e) Two coins are tossed together. Describe the sample space.

(f) If r,,=0.6, find the value of r,,,when u=2x-3, v=3y+2

(9) Find the median of 94, 33, 85, 67, 32, 81, 48, 69
(h) Find the effective rate equivalent to nominal rate of 6% converted quarterly.

GROUP-B
Answer any four questions from the following 5x4 =20
3 -2 10
2. If A= and | =
4 -2 01
Find K so that A? = KA—2I
3. A bag contains 5 white and 4 black balls. One ball is drawn from the bag and

replaced and then a second ball is drawn. What is the chance that the two balls
drawn are of different colors?

4, Using 3 year moving average method determine the trend and short term
fluctuations for the following data:

Year: | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019
Value: | 21 34 45 28 40 57 73

2116 1 Turn Over



CBCS/B.Com./Programme/2nd Sem./FACGCORO04T/2021

5.

8. (@)

(b)

10.(a)

(b)

2116

Rahim deposit Rs. 500 at the end of every year for 6 years at 6% interest.
Determine Rahim’s money value at the end of 6 years.

In a group of students, 50 students know Hindi, 25 know English and 12 know
both. Each of the students knows either Hindi or English. How many students are
there in the group?

Calculate ‘r’ by using Pearson product moment correlation coefficient formula of
the following data:

2111213456
y: 16413542

GROUP-C
Answer any two questions from the following

Using the data given below calculate the price index number for the year 2020 by
(1) Laspeyres’ formula, (ii) Paasche’s formula and (ii1) Fisher’s formula with the
year 2011 as base:

Commodity | Price (Rs.) | Quantity (000 kg)

2011 | 2020 | 2011 2020
Rice 9.3 | 45 100 90
Wheat 6.4 | 3.7 11 10
Pulses 5.1 | 2.7 5 3

In a population of 250 people the number of married is 100. Out of 75 people
who are unemployed 30 belonged to the married group. It is required to find out
whether the attributes marriage and unemployed are independent, positively
associated or negatively associated.

Fit a quadratic trend equation by the method of least squares from the following
data and estimate the trend value for the year 2020:

Year: 2013 | 2014 | 2015 | 2016 | 2017 | 2018
Price (Rs): | 250 | 207 |228 | 240 |281 |392

Determine whether the expansion of (x? —2/x)lo will contain a term containing
x°?
The correlation coefficient (r) =0.60, variance of x and y are respectively 2.25

and 4.00; x=10, y=20. From the above data find the regression equations.
Find the estimated value of y when x = 25.

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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B.Com. Programme 2nd Semester Supplementary Examination, 2021

FACGCORO3T-B.Cowm. (DSC3)
CosT AND MANAGEMENT ACCOUNTING
Time Allotted: 2 Hours Full Marks: 50

Thefiguresin the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

GROUP-A
Answer any two questions from the following 10x2 = 20
1 What are the objectives of Cost Accounting? Distinguish between Cost 4+6

Accounting and Management Accounting.

faary s Somrele & & o iy o ¢ iftvee e T

A1 I
2. The following is a summary of the receipts and issues of materials in a factory 10

during a month of January, 2018.
1.1.2018 | Opening balance 500 units @ Rs. 30 per unit
3.1.2018 | Issued 80 units
4.1.2018 | Issued 90 units
5.1.2018 | Issued 80 units
10.1.2018 | Received from supplier | 200 units @ Rs. 31 per unit
12.1.2018 | Returned to store 20 units @ Rs. 31 per unit
15.1.2018 | Issued 190 units
20.1.2018 | Received from supplier | 250 units @ Rs. 32 per unit
22.1.2018 | Issued 280 units
25.1.2018 | Received from supplier | 300 units @ 31.20 per unit
26.1.2018 | Issued 150 units
30.1.2018 | Returned to store 30 units @ 31.20 per unit

Prepare the stores ledger using FIFO method of valuing the issues.
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3. (&) What do you mean by Idle Time?
ETH A FEICS T (@R 9

(b) From the following data ascertain the total earnings of each worker separately

4. (@) Distinguish between apportionment and absorption overhead.
S 20E 357 @R e T AL I |

(b) A company has three production department X, Y and Z and one service

2115

under:

(i) Halsey Scheme and, (ii) Rowan Scheme.

Also calculate the effective hourly rate of wages of the workers under both the

schemes.

Name of workers Amal | Bimal
Time allowed (hours) 5 5
Actual time taken (hours) 4 6
Basic rate of wages per hour ¥ 3.00 3.00

GROUP-B

Answer any two questions from the following

departments. Following are the actual expenses for the year 2018:

Rent

Repairs to machinery
Depreciation of machinery
Supervision

Fire Insurance

Power

Light

Employees State Insurance

Other information:

3
20,000
12,000

9,000
30,000
10,000
18,000

2,000

3,000

Deptt. X Deptt. Y Deptt. Z Deptt. S

Area(sg. ft.) 1,500 1,100 900
No. of Employees 20 15 10
Horse power of machines 80 50 20
Total wages %) 60,000 40,000 30,000
Vaue of machinery () 2,40,000 1,80,000 1,20,000
Value of Stock (%) 1,50,000 90,000 60,000
Light Points (Nos.) 40 30 20

2

Apportion the above mentioned costs to different departments.

500
15

20,000
60,000

10

2+8

15x2 =30
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5. (@) Why isreconciliation of profits as shown by costing Profit and Loss Account and
Financial Profit and Loss Account important?

#3957 Profit and Loss Account ¢ if¥s Profit and Loss Account -4 (RGN
JARFR 0 R wwegsd & ¢

(b) The following data relate to the manufacturer of a standard product during the
month of March 2019:

2115

Raw materials consumed Rs. 4000, wages Rs. 6000,
Machine hours worked 1000.

Machine hour Rate 50 paise,

Office overhead 20% of works cost,

Selling overhead 6 paise per unit,

Units produced 20,000,

Units sold 18000@ Re 1 p.u.

You are required to prepare a cost sheet showing the cost per unit and profit for
the period.

(Cost sheet (o3l T2+, 93 &S 476 @R o IR 1)

X Itd. produces a standard product through Process-l and Process-Il. Finished
product from Process-| is used as raw materials for Process-ll. From the
following details, prepare necessary accounts:

Particulars Process-| | Process-|
Input (in units) 17000 13500
Materials cost (in Rs.) 50000 6000
Labour cost (in Rs.) 20000 16000
Factory overheads (Rs.) 10,000 12000
Normal loss (estimated) 10% 5%
Scrap value per unit (Rs.) 3 4

There was no opening or closing work-in-progress. The final output from
Process-I1 was 12200 units.

N.B. :

Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Sudents are strongly advised not to submit multiple
copies of the same answer script.
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ENGHGECO02T/ENGGCORO2T-ENGLISH (GE2/DSC?2)

Time Allotted: 2 Hours Full Marks: 50

Thefiguresin the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

1 Answer any three of the following questions within 400 words each: 15x3 =45

(@ How does Bama present the condition of people of her community in the extract
that you have read from “Karukku”?

(b) What isthe central idea of Shinde’s poem, “Habit”? Answer with close reference
to the text.

(©) How does Padma Sachdev express her love for her mother tongue in her poem
“Mother Tongue”?

(d) Comment on the unique narrative style of Raja Rao as seen in the extract of
Kanthapura prescribed for you.

(€) Critically comment on theimagery used in N.T. Rajkumar’'s ‘ Untitled Poem'.

2. Attempt any one of the following questions within 200 words: 5x1=5

(@ How does Raja Rao describe the gods and goddesses in the extract from
Kanthapura?

(b) Describe Bama's humiliation in High School.

(c) “Asthe vengeful furies/l will terrorize you and follow you.”
— Annotate and explain.

N.B.: Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A. Honours/Programme 2nd Semester Supplementary Examination, 2021

EDCHGECO02T/EDCGCORO02T-EDUCATION (GE2/DSC?2)

PSYCHOLOGICAL FOUNDATION OF EDUCATION

Time Allotted: 2 Hours Full Marks: 50
Thefiguresin the margin indicate full marks. e 3NT F5Z Ao N 0 P
Candidates should answer in their own words A [T @I T2 TET AT N
and adhere to the word limit as practicable. s PRI
1 Answer any two questions from the following: 15%2 = 30
fesfeie @-cwie 76 ecss Tea wies
(a) Discuss the nature and scope of Educational psychology. 7+8
MR sty 2phe @ iffd et el
(b) Discuss the various characteristics of Physical Development of infancy and 8+7

childhood. What is the importance of Physical Development in Education?
T @ AMIIER Mize [ Rien @gel S s@n Feecese mize
e erg o
(c) State the characteristics of Attention. Explain the determinants of Attention with 5+5+5
example. State the educational Implication of Attention.

TR @R ge @ wEireR Rdweel Sweaer T F@N
AR FrFiore @eg SCA I

2. Answer any four questions from the following: (each within 200 words) 5x4 =20

fersfeiie @-icat 51af6 elvea Tew wiss (2fef oo =it W)

(a) Briefly mention the relation between Education and Psychology.
TRl @ IR 751 FRTwCo Sead Il

(b) What are the principles of development?
e Aol iee

(c) What is meant by cognitive development?
TS [ TeT0e 6 @I 2

(d) Distinguish between long term memory and short term memory.
AR 7 @ e yfon T 21k e s

(e) Statethe characteristics of Personality.

e R e e

N.B.: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours/Programme 2nd Semester Supplementary Examination, 2021

ECOHGECO02T/ECOGCORO02T-EconoMIcs (GE2/DSC?2)

Time Allotted: 2 Hours Full Marks: 50

Thefiguresin the margin indicate full marks. e 3NT F5Z Ao N 0 e

Candidates should answer in their own words AT [T CIRNT I TGT AN Tl

and adhere to the word limit as practicable. e FRE |

1. Answer any six questions from the following: 2x6 =12
e @-@IC =71 2tes Tea wies

(8 What do you mean by national income of an economy?
I SIS TS o7 Fo70e fF I 9
(b) Define GDP and GNP.
GDP ¢ GNP-5 "R 8 |
(c) What ismultiplier?
R FICP 0T 9
(d) What are the disadvantages of income inequality?
SR FeT [ 1 9
(e) What is autonomous investment?
TGS R FIe A0 9
(f) Define M.
M 1-9a9 IRe:| wlS |
(9) What is bank rate?
JEE e
(h) What is stagflation?
FEfoFifs T 3 ¢
(i) What do you mean by Human Development Index?
N TR 5 0O B @I 9
(1) What are the determinants of aggregate consumption of an economy?
I SLTIST @ coi9! 3 (@I I [ 8o fed 33 ¢
(k) What isacommercia bank?
Jifdfen< = FIE A 9
() What is cost-push inflation?

Rfaeiere JUrFIfS FICF 0T 9
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2.

Answer any two questions from the following: 4x2=8
fesfeie @-c 7f et Ted wies

(8 What are the effects of inflation? 4
JUrRIST R Fcv w6l

(b) (i) What is Marginal Propensity to Consume? (ii) What is the relation between 2+2

marginal propensity to consume and investment multiplier?
(i) oS (SrieReel FIT A 2 (i) 2ifeF ceiierers ¢ RN wewa S 7o

=9

(c) What are the functions of acommercia bank? 4
{5 AT FicE AR SN FE)
(d) Do you think that GDP is atrue index of economic welfare of a country? 4

¥ 5 W S (G ey el Tesiine (i SLoa SLfoF Femieed Ao Foes o

Answer any three questions from the following: 10x3 =30
el @-ceieat foqfe eltsa Ted nis:

(a) Discuss different methods of measuring national income of an economy. 10
@ SR e S ~ifsieeR [ifew smfowf Sl @i

(b) Explain the simple Keynesian method of income determination. 10
@A ~fafore Ger o RFeia fNdiad w1 2 7127 Fel |

() What are the functions of money? Discuss the credit creation by a commercial 4+6
bank.
wda T [ 2 @3 Aifelfenss yicEa el 312 siafe v T

(d) What isacentral bank? What are the functions of a central bank? 2+8
LT T FICE A 9 TR PE PR ST FC |

(e) Derive the vaue of investment multiplier in a closed economy without 10

government activity.
OB TP FIeFNR F TdIfere RGN wdcwa i+ e st

(f) Explain the concept of inflationary gap with the help of diagram. Discuss anti- 5+5
inflationary monetary policies of an economy.

e T qReil e T @i @ wd=ifen Jurefe ek S Gife
DD SN

N.B. : Students have to complete submission of their Answer cripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Sudents are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.Sc. Honours/Programme 2nd Semester Supplementary Examination, 2021

CEMHGECO02T/CEM GCORO02T-CHEMISTRY (GE2/DSC?2)

Time Allotted: 2 Hours Full Marks: 40

Thefiguresin the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

SECTION-A
Answer four questionstaking one from each unit

&TerS TG (AF W6 w0 e b 5196 oteiw Tea wie
Unit-I

1. (a) Write down the Maxwell’s equation for distribution of molecular speeds in three 2+2
dimensions and explain the terms. Show graphically how the velocity distribution
curves vary at two different temperatures T, and T, (T, >T,) for the same gas.

IR NeARE ifovea faafas FNead @l @32 &fel o i e a3
R CF6 40 28T T, € T, (T, > T,) ity oife 5c wigfen [t #ifiaed g
2fbrad Myew wAie |

(b) Write mathematical expression for mean free path of a gas. How does the mean 1+1
free path of a gas change with rise in temperature at constant pressure?
I MR 8 T A7 aMffes wf @l % viter Tl e AR G & 212
FeiE e =x 9

2. (a) State the principle of equipartition of energy. Calculate the translational kinetic 1+1
energy of amolecule of anideal gas.

&g ereH Ao Kge Tl | S 7™ @ Sepe 91« slemt Fe

(b) Calculate RMS speed of oxygen at 0°C. 2
0°C TeoR SIfEeaR 51¢ fawifon qafe e e
(c) Write down van der Waals equation in case of ‘n" mole of areal gas. What is 1+1

meant by compressibility factor Z ?
‘v NS AR SR e SIINCRSAEER FAFCAG TN A @ld Z e

(AT 2
Unit-I1
3. () Define coefficient of viscosity of a liquid. Write its SI unit. Determine its  1+1+1
dimension.

CAETE TS YA AL WIS | 379 AT (@11 S| 2imfere 3319 Wil [Fdiwe st
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(b) Which instrument are used for measuring viscosity of aliquid?
(FIF T QT F(F O Aol M 27 9

4. (a) Define Surface Tension. Determine its dimension.
S[PICR KRGl 7S | 371 W el Fct
(b) How do surface tension and viscosity of aliquid vary with rise in temperature?
(I A 7B @R Awre! Trew! Jfa el ol »fafes za 9

Unit-111

5. (8 What is meant by the plane of symmetry of acrystal?
FAICR 2SN & Fe7ce [ @I 9
(b) Calculate the no. of atoms per unit cell of aface-centred cubic lattice.
(FACH ZDC AT SO &S G (I AR IR 0ol FC |
(c) What is meant by the Miller Indices of acrystal?
GF (b FCR FER 5% F@10e [ QIR 92

6. (8 What do you mean by the unit cell of acrystal?
@F 0 (TR 9FF (I IE0© & @I 9

(b) The Weiss indices of a plane of a cubic crystal are found to be 1:0:; find the
miller indices of the plane.

GF TR FACR @6 OEFR CRPP T T 10 o0; @7 FER Pl ey
N

(c) Statethe Steno’sLaw of constancy of crystal angles of asolid crystal.
oA FACT 7P T (FIH ol 71fFe FHeaR 5@ @t

Unit-IV

7. (@) What is Molecularity? Write down some differences between Molecularity and
Order of areaction.

Heifime! T e ¢ 96 [ wefieet gar S ey AT @l

(b) If order of areactionis 3/4 then what would be the unit of rate constant k.
T @3 R @ 3/4 =, @ Rfene oS s avs Mdie s

(c) For a first order reaction (t,,,) is 30 minutes. Calculate the rate constant of the
reaction.

a6 29w T [z wRces F1w 30 G [t 5ife ww e e

8. () Write equation of rate constant of a zero order reaction. Write unit of rate constant
of afirst order reaction.

we) @ RG9S & wNwa9 @t 2429w @5 [feam sife & @3 @l
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(b) A first order reaction is 24.0% complete in 19.7 minutes. How long will the
reaction take to be 90.0% complete?

O 6 &2 f[{fEe 24.0% Raed w6 19.7 FfEEG ) vz @ [fEnba 90.0% [anfes
S PO HAY AQAGre 2(F ?

(c) Write down the expression of temperature dependence in Arrhenius equation on
reaction rate explaining the terms involved.

Jaze deFefer e [T 2 Swor Tog Mmoo SeafRiee Teel
TN

SECTION-B
Answer two questions taking one from each unit

ATETF TEIG (AF 9F (6 FR Few b 76 @rsis Tea wie
Unit-
9. (a) Define Lattice energy. Write Born-Lande equation mentioning the terms involved
init.
Gl *fed el 101 | Born-Lande A=l (31011 9 Sl “iwesfera #ifva wie |
(b) PbCl, iscrystalline solid but PbCl, isliquid — Explain.
PbCl, (P11 13w 7% PhCl 4 &3 - 7141 Il
(c) Predict the shapes of the following compounds on the basis of VSEPR theory:
(1) NHg (i) BF5 (iii) SF4
V SEPR w0gd Agc) fafeifie (el siotaa i wis)
(i) NHg (i) BF5 (iii) SF4

10.(a) How many types of hydridization are possible with s-and p-orbitals? Give one
example of each.

SR P-FH(PH W FOLFIF FRFARE 78| elfofba b Srizze nie |
(b) Carbondi-oxide is non-polar whereas water molecule is polar — Explain.

PRATIZ-TINZT TEI SRS TEEEA - T S

(c) Give an outline of the Born-Haber cycle for the formation of NaCl crystal from
Sodium metal and Chlorine gas.

gred ENSAN GRS @I (e ENSAN @RI st (Fea Born-Haber 5t&d
=N foq srw« S|

(d) write the Molecular Orbital electronic configuration of O, and O; and hence
predict which one among them will be paramagnetic.

0, ¥k O @3 Wi F%cFa (Molecular Orbital) 2CeiE= Ry el G e
@IS AT 9
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Unit-11
11.(a) Give a comparative study of C, S and Ge with respect to their (i) oxides
(i) hydrides.
C, Si @R Ge GTeTTCEA (i) SR (ii) 2A2GIZCTH ACATF QAT SACE6 FC |
(b) Compare the Lewis acidities of BF; and BCl3 with explanation.
BF; @3 BCl; @3 527 SRIF©! TR Qo Sl |

(c) Basicity of NH3 more basic than that of PH; — Explain.
PR SR SICTera (1 =R - il <veat |

12.(a) Discuss the hydrides of nitrogen and phosphorous in a comparative manner.
TIBCBICE QR TP EPTCRS ZRGIRC (oI eTsl Gereiisferas SHICetb= Sl
(b) Explain why?
IR T A
(i) SnClsisaliquid but SnCl; isasolid at room temperature.
FRe SI#Na SnCl, 95 wee % SnCl, 9T Ffod »mig)
(if) Both PCl3 and PCls are formed but only NCl3 exists.
PCl3 @3} PCls e (@t oifde 2 - f5g @y NCl; #ivet T
(c) Why SO, shows both oxidizing and reducing properties?
SO, T ¢ erize To 43 evsfa T (el 9

N.B. : Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer script.
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WEST BENGAL STATE UNIVERSITY

B.Sc. Honours/Programme 2nd Semester Suppelementary Examination, 2021

BOTHGECO02T/BOTGCORO02T-BOTANY (GE2/DSC2)

Time Allotted: 2 Hours Full Marks: 40
The figures in the margin indicate full marks. aNfer T F0Z T Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT AT M
and adhere to the word limit as practicable. s R
I. Answer the following questions in brief: Ix16 =16
faferie amefem wEF Ter nes
(a) What is ecotone?
I R 2

(b) Write down Shelford’s law of tolerance.
CHIETCRPICTS &1 S BCACE™T @it @Il
(c) Define soil profile.
MG (PIZCETR T wie |
(d) What is meant by food-web?
rETIe] I 6 QI 9
(e) Write the scientific name of a free-floating hydrophyte.
3B TGO ST T Serrd RGITTIS =N el
(f) Define ‘flora’.
‘GPIRAP-2 IR (#TCAN
(g) Define ecological pyramid.
SERIGE PRIfTe el nie)

(h) Mention one distinctive adaptive feature of Xerophyte.
GiEEe] Sigme G ib Sracls] Sifecaiien afiees Srae w1
(i) What is chemotaxonomy?
TSI & 9
(j) Write down the full form of ICN.
ICN-97 sj=f% ifo @ea
(k) What is meant by taxonomic key?
EANRICR BifK @0 [ @I 9
(I) What is the acronym of Central National Herbarium, Shibpur, Howrah?
CTGIST TR R, ®eoj, Qe scefE & o

(m) What is plant systematics?

S e FicE 6 2
(n) What is valid publication?
GIIfeTC AT P 0T 9
2105 1
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(o) What is edge effect?
OE-G(FS [ 9

(p) What is nomen nudum?

T oIy & 9

2. Answer any eight questions from the following: 3x8 =24

fasfie @-ce @B’ et Ted nies

(a) Write down the general stages of plant succession.
Tfgena AT A “fefer el

(b) Outline briefly the composition of soil.
&I Tofmiasre IRFERY FR 2E© Bl |

(c) Schematically represent the nitrogen cycle.
R AP FZCBICE b TIPS el

(d) Write down the various anatomical adaptive features in hydrophytic plants.
eTe Bfgrnd fifen Sresfasie sfvrifere @ Erefe @l

(e) Write a short note on endemism.
‘qrefien’-a3 evq WREFY Bt @l

(f) Write a note on the role of palynology in taxonomy.
MR ~MfeTEa i 7 @t

(g) What is taxonomic hierarchies? Define taxon.
BrCIG QRiE & 2 G et wie

(h) Write down the functions of Herbarium.
QefRI- 97 IRE el

(i) Explain artificial, natural and phylogenetic systems of classifications. Give
example of each type.

FaW, 2iFios ¢ Tifosivae TR I 718 | 20eTHba @Hb FCH TrILde wie |

(j) Represent schematically the Bentham and Hooker system of classification (up to

series).
A IR (@2 8 TR 2 @Rt safef Kge st (Gt #1fe) )

(k) What is nomenclatural type? Distinguish between holotype and isotype. 1+2
R 5125 < 2 (RIS @ WREBIReR wwie i ¢

() What is cluster analysis? Distinguish between phenogram and cladogram. 1+2

PO Regel [ 9 reaials € FicelaicR “ies @l

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY

B.A. Honours/Programme 2nd Semester Supplementary Examination, 2021

BNGHGECO02T/BNGGCORO02T-BENGALI (GE2/DSC2)

RIGICEIEECRERAR NI
Time Allotted: 2 Hours Full Marks: 50
e FNT FIE Ko TN o7 T
AR [cers GIRF 2 TSI ENNT N G& P!
SISl e (AT 9FT5 T GG 5IF6 20a Ted w83 (R ©00) 508 =80
GFP->
(F) G SO WS FETA 67 Tt @R @7 Forolfes @fiE) S S I+t
4l
(¥) 2B 0o A ORI Oreligs (AfiEy el 0
G-
(51) 25! TSIl (I (I ST 2bfere 9 @ Sieifes (ARl S F @l 049
4l
(F) FIREN B2l (I SeL0a 2bfers 9 @2 e erReifes @ e e s 049
GFF-0
(8) *nig ARISCTR 4N FHLFIR 8 F F 9 LTOHIH (A IR Grigael WS | ©+9
ql
(5) ®N-+IfFaSCTa FiReef SEEa @M S0
9FF-8
(R) SN RfeTers e #Ifi53 e ) N
ol
(T) ST Wi I fHsres sl S0

S (AN A (A ZECR) AN UEres [EN, 3 WNEE REGE H) FE
(TR, 7] T (ATETZA | (312 OfF R S BIeT @ Si1eqia 7l ©i7 el eoraie |
K T FoTCe18 2 I S Siea ez Aifzed e gieTE |
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fafeiie @-cieal 7f e Ted s
(F) =nfa Tg-qRaE TR, v e wft @i @
(¥) ORIl ¢ TSR F#IF SNCEH! Tl |
(51) TrrRgerE A ETCAS (@-CHI G 15)
wife F@cE, AR, wfowfw, Remd
(7) FEfie srraefe @i ffsice @ele (@-ciEt #i50)
o, @, A, T, H, W, %, &

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.Sc. Honours 2nd Semester Supplementary Examination, 2021

ZOOACORO04T-ZooLOGY (CC4)
Time Allotted: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

1. Answer any eight questions from the following: 2x8 =16

(a) Distinguish between viroid and virus.

(b) What do you mean by linker DNA?

(c) What is MPF?

(d) Mention the functions of peroxisome.

(e) What do you mean by PPLO?

(f) What is flip-flop movement?

(9) State the ‘Endosymbiotic theory’.

(h) State the role of aquaporins.

(i) Distinguish between zonula occludens and macula adherens region.
() What do you mean by ABC transporters?

(k) Name one RNA virus and one DNA virus.

(I) Write the scientific names of two species of Mycoplasma.

2. Answer any three questions from the following: 3x3=9

(@) ‘Mitochondria is a semiautonomous organelle’ — explain.

(b) What are connexon, connexin and innexin?

(c) Differentiate between Protooncogene, oncogene and tumor suppressor gene.
(d) What do you know about gated channels? Cite few examples.

(e) Briefly comment on the function of cis Golgi.

3. Answer any three questions from the following: 5x3 =15
(a) Give an account of nuclear pore complex with necessary diagram. State the function 4+1

of Wee 1 kinase in cell cycle control.
(b) Give an account of polymorphism in lysosomes. 5

(c) Write the chemical composition of a plasma membrane. Which model of the plasma 3+1+1
membrane structure is accepted over the others? Why the model is so named?

(d) Describe briefly the intrinsic pathway of apoptosis. What is glycocalyx? 4+1
(e) Discuss the role of cAMP as second messenger in cell signal transduction. 5

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A. Honours 2nd Semester Supplementary Examination, 2021

PLSACORO4T-POLITICAL SCIENCE (CC4)

POLITICAL PROCESSIN INDIA

Time Allotted: 2 Hours Full Marks: 50
The figuresin the margin indicate full marks. e SNT T2 T2 N o e
Candidates should answer in their own words A [T @I T2 TET AT e
and adhere to the word limit as practicable. s PRI

1 Answer any five questions from the following: (within 30 words each) 2x5=10

feaferie @-cical =516 elitsm Tea nies (2lfsfb wo *twa w(ay)
(8 Name any four national political partiesin India
S0 @A-FIC BRI SO AGafoF w1 |
(b) Define electora reforms.
e RFICT Rl 7ie |
(c) Define secularism in the Indian context.
ORISR AT 4 (A7 PFoR e w6 |
(d) What do you mean by ‘Dalit’ ?
‘wfere’ FeTCe fF AN ¢
(e) Mention two important aspects of ideology of a political party based on religion.
@I wffefes Arsiafes wer TomeR 4t wwgsd e Srae 3
(f) What is Lokpal?
@Al 5
(g) Mention two major functions of Lokayukta.
RIS 76 37 TS Seard T |
(h) What isModel Code of Conduct (MCC)?
forivent ibelffa e et 9
(i) Name two agenciesin Indiathat deal with checking corruption.
ST b IRER AN I IR TS THAFACER FICS & |

2. Answer any two questions from the following: (within100 words each) 5x2 =10
feaeraie epefe (s @-ieat 7f6 @ess Tex wies (&fefb soo = W)
(8 Write ashort note on Anti Defection Act of 1985.
Sobr¢ AT wereptsl RKeaidl S S asfh IRFERG Bisel e
(b) Discussin brief the major features of caste politicsin India
ST SOI00e AeTIoe o7 (AM18r o] TR Sl S|
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(c) Do you think that an active role by the media has helped to curb corruption in the
Indian politica system?

OfSl & S0 1 (@ SRS AF SNl GRS TP AR FCACE ?
(d) Write a short note on Chipko movement.
A SR T17 @ DIl e

3. Answer three questions taking one from each Module:(within 350 words each) 10x3 =30
aifoli MfTTa (e «i% Fea e G foafs evas Ted nies (2fsfb oeo =Mt )
Module-l

(8 What is coalition politics? Discuss in this context the relevance of coalition 2+8=10
politics in contemporary India.

(G AT FIE 05 2 G2 (@FHCe TANRF SRS (@6 ATIfod 2EEe! A5
N

(b) Evaluate therole of Election Commission in India.

ORICS foibe SRR R SErRe S|

Module-l1

(c) Define regionalism. Analyse the reasons for the growth of regionalism in Indian 2+8 =10
politics.
QfFFORITE R 8| ST ATTItoce SNfFFeRIcE 2o Jfad FiRe [Rese
FcElN

(d) Evaluate the importance of Women’s Movement in India.

SO AETANOCS AR ST S0 LR Pl

Module-I 11

(e) Do you think that corruption has affected Indian politics? Give argument in
support of your answer.

offl & 7 F@ @ SIS AT Yo erelie FER 9 (ONF Te@d A90F e
e |

(f) Discusstherole played by Mediain Indian politics.
SIS AGANOCS NN G S B |

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Sudents are strongly advised not to submit multiple copies of the
same answer script.
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PHIACOROAT-PHILOSOPHY (CC4)

Time Allotted: 2 Hours Full Marks: 50
The figuresin the margin indicate full marks. fifes JFT FGZ TG 2T e T 1
Candidates should answer in their own words A [T @R T2 FEGT AT N
and adhere to the word limit as practicable. es FEE |

Answer Question No. 1 and Question No. 2 and two mor e questions taking
one from each group

SR GARR R 93 Rl F° @ ‘X (AT Wb IR e e =ieal 1f5 efvaa e
we
1 Answer any five questions from the following: 2x5=10
feraterare @-cwieat =5 aess T niss
(8 Writetwo limitations of Existential Instantiation (E.1.).
e FRIBFAE (E.|.) Moz 1t Amaare! el
(b) What isanormal form formula?
Rfzow 5@ F 2
(c) Distinguish between free variable and bound variable with illustration.
& AIZF @ 7 AR(F W& #A147 1RIee N e
(d) What isvariable?
&2 OIF T FI (RN 2
(&) ~ (X)~Mx=(3x)~Mx: Isthe sentence true?
~ (X) ~Mx=(3x) ~ Mx : @2 T {5 775
(f) Givetheform of method of Agreement.
SR oo SARF (e |
(g) “Causeisused mainly in three senses’ — What are the three senses of the word
‘cause’ ?
‘TR (F eTos font sl IJR2F I 21 — @2 foafls =il i f& 9
(h) What is Scientific Induction?
(RGeS FIE 6 2
(i) What isthe Addition Theorem of calculating probability?
STEIRTS! AT Q@NCa 34 it e
(1) What are the differences between propositional function and truth function?
AICTF QR FGICATCIA 2ol T Sl

2076 1 Turn Over
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2.

Answer any two questions from the following:
fersferie @-ceie 75 elcs Tea wies

(8 What isthe need for quantification?

TR eEaTe [ ¢

(b) Symbolize the following sentences by using quantifiers, variables etc. (any two)

e arpefers mae, Afens Bt AR aemiiie sl (- 715)
(i) Some horses are gentleif they are well trained.
CRICA (I (0! 1@ 231 A wial Tofges el #1311
(i) Writers and readers both are kind.
1L GR AT TSR W@l |
(iii) Men and men alone are rational.
WG @R (FIETG AL Jfarghes™ia |
(iv) What is simple predicate?
73 fCeE e 0 2

(c) Explain with example the Method of Difference and show its form.

TriZEe 8 WFIF TN IS e i Fe

(d) Briefly discuss aprior theory and relative frequency theory of probability.

2076

TERTOR o A 770z ©g @ Wl Tg2ie $red IR s Tl

GROUP-A
et-=

Construct formal proof of validity of the following:
wEfeTe Yewltr wiwimere @l e Fle
() (MK (X xR

(X)X x-(Zx-~Ax)]

(X)[Wx>1)o5(Bxo AX)]

S (3 (Zx-~Bx).

(i) Any author is successful if and only if he is well read. All authors are
intellectuals. Some authors are successful but not well read. Therefore, al
intellectual s are authors.

F-CHICA THFE FFe ZA M GR (91 A FAG® 2o | 7 @132 Jandi,
g (12T 7o g Foife 2o | @Al Pe] @& IIIR (515 |

Determine the invalidity of the following argument by the method of truth value
assignment:
FoJel) SR 2l fcae feraler eiezer e s
(i) (XN[Ex-(IxvTx)]>~SX]
(3x) (Ex-1x)
(3X)(Ex-Tx)
S (X)(Exo~Sx)

5x2 =10

5x3 =15

5x3=15
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(i)

(X)[(M x-Nx)>(Oxv Px)]
(X)[(Ox-Px)>(QxVv Rx)]
2 (X)[(M xvOx) o Rx]

(iii) There is nothing made of tin that is not cheap. No rings are made of lead.

Not everything is either tin or lead. Therefore, not al rings are cheap.

o ffife @ @i g2 (2 1 7% 731 ieat wikfbE Fe [fife w91 @sw 77

@, 71 552 =7 o A1 e | oar Feet ok f5R 7wt w3

GROUP-B
freia-4

What is a hypothesis? What are the criteria used in judging the worth of a
hypothesis?
2% J 9 (I, (T TS 2P S0 617 27 9

Calculate the probability of the following:
fesfeifs woaieler TeRret “ifasie s

(i)

(i1)

(iii)

N.B.:

What is the probability of getting either a3 or a5 or a 6 from a single
rolling of adice?
@3 O b @R Wi e ©, ¢ T Y HTF TSRT©! F 2

An urn contains 5 red balls, 7 white balls and 3 green balls. Another urn
contains 7 red balls, 5 white balls and 3 green balls. If single ball is drawn
from each urn, what is the probability that both the balls are of same
colour?

f6 siitaq «foce ¢ @ 39, afb 7l 751 @ ©fb T_w 791 Wiz &+ G 7ieg
4f6 e @, ¢ 6 Al 7o ¢ ofb Fige T&1 =R “fia 76 ([T 9 1 el qio
eI QP8 ACET EAR AT ' 9

If three cards are drawn successively from a deck of cards, what is the
probability of not getting any ace in three drawn?

G35 SIR IS (AF 2797 o Ot e et fomaisz Gat =1t Atead
QTS F© 9

Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Sudents are strongly advised not to submit multiple
copies of the same answer script.
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MTMACORO04T-MATHEMATICS (CC4)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

Answer Question No. 1 and any five questions from the rest

1. Answer any five questions from the following: 2x5=10

(a) Find the particular integral of the differential equation (D?+1) y =cos 2x..

(b) Find the Wronskian of the set {1—x, 1+ x,1—3x}.

(c) Solve p>—3p+2=0, p=ﬂ.
dx

(d) Show that there is a regular singular point of the differential equation

(€) Showthat @+ 3 f+7 7+a |=2|a g7 |.
(f) Show that the three vectors i —2j +K, 2i + j —3k and —3i + j+2K are coplanar.

(9) Ifthe vectors f =3xi +(x+Y) j—axk is solenoidal, then find a.
(h) Find the directional derivative of the function f(x,y,z)=yz+2zx+xy in the
direction of the vector G =i —2]+k at the point (1, 2, 0).

2
2. (a) Solve: %+6%+9y:3x2. 444
X
Y dzy dy
(b) Solve: o ol T Y= 0.
d’y 20 &y o
3. (a) Solve: X3~ — +2x-L-2y=x3 4+4
@ dx® dx? <~
2
(b) Solve: xzd—g—xﬂ+4y:cos (log x) + xsin (log X) .
dx dx
4. (a) Solve the simultaneous linear equations: dx ~7x+y=0 ﬂ—Zx—Sy:O. 4+4

dt ' dt

2
(b) Solve: %—y:x2 COSX.
X
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5. (a) Provethat [ax /3 fixy 7xa |=|af7 | . 4+4
(b) Show that the four points 2i +3j—Kk, i —2]+3K,3i +4j—2k and i —6] + 6k are
coplanar.
6. (a) Show that the vector E =(2x—yz) i +(2y+2x) j+(2z—xy) K is irrotational. 4+4

(b) Verify Green’s theorem in a plane for if{(x2 +xy) dx + xdy} where C is the curve

enclosing the region bounded by y =x? and y=x.

7. (a) With the help of vectors prove that the medians of a triangle are concurrent. 4+4

(b) Prove that the necessary and sufficient condition for a vector ¥ = f(t) to have a

constant direction is f x % =0.
: - on 95 pdy o
8. (a) Show that the Wronskian of two solutions of the equation F+ P&+Qy—0, 4+4
X
xe(a,b), P, Q are functions of x, is either identically zero or never zero on (a,
b).
2 d%y
(b) Solve: sin®x=—-=2y.
dx

9. (a) Solve by using the method of variations of parameters 5+3

2
xz%—Zx(l+ x)%+2(l+ X)y = X
X

where the integrals in the complementary function are x and xe?X.
(b) Find the integrating factor of the differential equation

y(xy + 2x2y2) dx + x(xy — x2y2) dy=0.

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer script.
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HISACORO4T-HISTORY (CC4)
SociAL FORMATIONSAND CULTURAL PATTERNSOF THE MEDIEVAL WORLD

Time Allotted: 2 Hours Full Marks: 50

Thefiguresin the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
GROUP-A / faeta-&

Answer any two questions from the following. Answersareto bewritten each  5x2 =10
within 250 wor ds approximately

T - 717 et Tea mie) &feb et Ted  ¢o =twa WK A LA
1 Who was Hannibal ?

Qe & o™ 9

2. Write a brief note on the revolt of Spartacus.
=GP Rz 91 @ kg Bist @l

3. Write a brief note on the culture of chivalry.
fRreper s wHE @ e Tiel @l

4. Write a short note on the Cluniac reform movement.

e RHE Scwieicas R ERG [Keee nie |

5. What factors led to the rise of Sufism?
HRFaIrE IR e Fi e o

GROUP-B / feta-4

Answer any two questions from the following. Answersareto bewritten each 8x2 =16
within 400 wor ds approximately

e - 717 et e mie ) &fsb eltsa Ted oo *twra S A AT
6. Write an essay on the sources of Roman history.
RICR QR Tomimf i a3 (b 2= @l

7. Write a short note on the overthrow of the monarchy and the establishment of
Republic in Rome.

QIR ST BOvRR 3R, AGTOE Zioie [y afo e a5a1 Teall |

8. How would you explain the rise of universities in medieval Europe?

IR BScAe! RefmrieTas Buiees it et tent v ¢
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9. Discuss the growth of town and trade in the 12" and 13" centuries CE.
R € QU *[o(F 2SI 7997 8 JifelreTa Kidi! Scs= S|

10. Review the position of women under the Abbasids.
SRAIW S A SR 2 S|

GROUP-C / faetat-t

Answer any two questions from the following. Answersareto bewritten each 12x2 =24
within 600 wor ds approximately

fwfefde @-@IEl 715 etas Ted nie) afofb et T voo it wuey At
QT
11.  Anayse the long drawn struggle between the Patricians and the Plebians in early
Roman republic.

I eferTotEs el el #(7ifahme ¢ Ao g ares Rese Fai)

12. What were the main reasons for the crisis and fall of the Roman Empire in the
West?

AR5 I AW FFD @ ST 0T 2l Piaeteser F e 9

13.  Why are the cultural changes of the 12" century CE in Europe considered as
‘Renaissance’ ?

AV WS LI ARFGF ~IRRGE & ‘@i’ e ofeee Fa1 =0 9

14.  What were the long term effects of the crusades on the society and economy of
Europe?

FTNPR TG € TLNTOTE GFEes RGN wons ) e 9

15.  What were the features of the rise and spread of Islam?
I T IR TR (AR lE 1 fawt o

N.B.: Students have to complete submission of their Answer cripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Sudents are strongly advised not to submit multiple
copies of the same answer script.
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FACACORO04T-B.Com. (CC4)

MARKETING MANAGEMENT AND HUMAN RESOURCE MANAGEMENT

Time Allotted: 2 Hours

10.

11.

12.

2065

The figures in the margin indicate full marks.

Full Marks: 50

Candidates should answer in their own words and adhere to the word limit as practicable.

GROUP-A

Answer any five questions from the following
Briefly highlight the meaning of Advertising.

Define the term Product Planning.

Mention two objectives of pricing.

What do you mean by Consumer Behaviour?

What do you mean by job evaluation?

What do you mean by performances appraisal?
Distinguish between job description and job specification.

Define Human Resource planning.

GROUP-B
Answer any four questions from the following

Briefly point out the steps of consumer decision making process.
Explain the term “product Differentiation”.
Discuss the essential qualities of a good salesman.

Briefly explain the objectives of job analysis.

2x5=10
5x4 =20
Turn Over
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13.

14.

15.

16.

17.

18.

2065

Discuss the process of human resource planning.

Distinguish between Personal Management and Human Resource Management.

GROUP-C
Answer any two questions from the following

Describe the principal methods of pricing.
What is Branding? Discuss various legal provisions of Branding.
Discuss, in brief, the different methods of performance appraisal of employees.

What is industrial relation? Discuss the various factors influencing industrial
relation.

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

10x2 = 20
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ENGACORO4T-ENGLISH (CC4)

BRITISH POETRY AND DRAMA (14TH-17TH CENTURY)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

SECTION-I

1. Answer any two of the following questions in not more than 500 words: 10x2 =20

(@) How has Spenser blended the conventional elements with individual qualities in
the sonnet ‘One day | wrote her name’?

(b) Comment on Shakespeare’s treatment of the theme of love in the sonnets 30 and
129.

(€) Consider Donne’s ‘Canonization’ as a Metaphysical love poem.

2. Explain, with reference to the context, any one of the following in not more than ~ 5x1 =5
200 words:

(@) But if the while I think on thee, dear friend, All losses are restor’d and sorrows
end.

(b) Let him be rich and weary, that at least, if goodness lead him not, yet weariness
May toss him to my breast.

SECTION-II
3. Answer any one of the following in not more than 500 words: 10x1 =10

(@) Critically analyze either, the ‘Porter Scene’s (Act Il, sc. iii) or the ‘Sleep-walking
Scene’ (Act V, sc. i) in Macbeth.

(b) Discuss Shakespeare’s use of supernatural elements in Macbeth.
(c) Is Tamburlaine a hero or an anti-hero? Answer with close reference to the text.

(d) Bring out the significance of Zenocrates’s character in Marlowe’s Tamburlaine
the Great.
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4. Answer any one of the following in not more than 500 words: 10x1 =10
(a) Comment on the significance of the title of Shakespeare’s Twelfth Night.
(b) Critically assess the role of Feste in Shakespeare’s Twelfth Night.
(c) Examine Ben Jonson’s The Alchemist as a Comedy of Humours.

(d) What role does money play in Ben Jonson’s comedy The Alchemist? Answer with
close reference to the text.

S. Locate and annotate any one of the following within 200 words: 5%x1=5
(a) “But wherefore could I not pronounce ‘Amen’?”
(b) “I hold the Fates bound fast in iron chains,
And with my hand turn Fortune’s wheel about
And sooner shall the sun fall from his sphere,
Than Tamburlaine be slain or overcome.”
(c) “Oh, you are sick of self-love, Malvolio, and taste with a distempered appetite.”
(d) “Nature doth first beget the imperfect, then Proceeds she to the perfect.”

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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EDCACORO04T-EDUCATION (CC4)

PEDAGOGY
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R
1. Answer any two questions from the following: 15x2 =30

fafeiie @-cwie 7f6 @eis Ted nies

(a) State the concept and scope of Pedagogy. What is the relationship between 4+4+7
learning and teaching?

reisfa giet <z iR S Fem Red R R S T oo

(b) Briefly discuss the concept of “Teaching as a process”. What are the different 619
levels of teaching?

“‘frwel @ afe @2 417 i T Freer [or saefs 5 & 9

(c) What is meant by 3R? Write what you know about the teaching and learning of 4+6+5
reading. State any two importance of reading.

3R e & @RI ¢ “ord frme @ fidta i o T @iel @Il 2o
Q-G 70 @7g TE IR

2. Answer any three questions from the following: (Each within 200 words) 53 =15

e emefw st @-@E foafe et Tea nis: (alfslt 200 *Itwa way)

(a) What is andragogy?
Andragogy ¥ ?

(b) State any two principles of teaching.
R -l 9o Fifs Seard e

(c) State any two characteristics of learning by verbal conditioning.
BT SIS N e @-Ciea 7o @fier Seae sl

(d) State the characteristics of learning by discovery.

oy e IRErefe Sae s

(e) State the characteristics of learning of knowledge construction.

R4 T fevsficera il Soae s
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3. Answer all the questions from the following: Ix5=5
fefeiie Tqefe etss Ted mes

(a) According to the systems approach, the processes of teaching are
(1) input, process and output (i1) input, print and output
(iii) input, storage and output (iv) None of these

(b) The Associative Perspective of Pedagogy was stated by
Pedagogy-¥ Associative (2RO 1 FCACRA
(1) Dewey (i) Merrill
(iil)) Mwanza (iv) Marx

(c) Which level of teaching is considered as thoughtful teaching?
R (I B fowms)el Mo w3 3o =3 9
(1) Memory (i1) Reflective
(ii) Autonomous (iv) Understanding

(d) Pedagogy means

R ARE G
(1) Science of Learning (i1) Science of Behaviour
(ii1) Science of Mind (iv) Science of Teaching

(e) Which is not related to Discovery Learning?
@0 SERTTeT R A0t RIS 7Y 9

(1) Enactive (i) Iconic

(ii1) Assimilation (iv) Symbolic

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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